Statistics:  End of the 9 weeks exam study guide: Syllabus: Chapters 1, 2, and 3. 
Bluman Elementary Statistics, 8e

Study guide

Objective: TSWBAT prepare for end of 9 weeks examination. The test is not limited to just this study guide. This is a sample.
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	1.
	How are statistics important in our everyday lives, and why do we need to understand them? 


	2.
	Inferential statistics is based on probability. 

	A)
	True

	B)
	False

	3.
	A ______________ consists of all subjects that are being studied. 


	4.
	Explain the difference between qualitative, quantitative, discrete, and continuous variables. 

	5.
	What level of measurement would be applied when doing a survey on the average American's shoe size? 


	6.
	The _______________ level of measurement classifies data into categories that can be ranked; however, precise differences between the ranks do not exist. 


	7.
	The four basic methods used to obtain samples are: random, irregular, cluster, and stratified sampling. 

	A)
	True

	B)
	False


	8.
	______________ sampling is used when the population is large and it includes subjects residing over a large geographic area. 


	9.
	Questioning every 14th customer leaving a theatre about the movie they had seen, would be an example of systematic sampling.

	A)
	True

	B)
	False


	10.
	When running an experimental study, the group that is manipulated can be called the treatment group. 

	A)
	True

	B)
	False


	11.
	One advantage of a(n) ______________ study is that it occurs in a natural setting without intervention by the researcher. 


	12.
	In the following chart, Height is the independent variable and Age of Tree is the dependent variable.
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	A)
	True

	B)
	False


13) Explain difference between descriptive statistics and inferential statistics.

14) Explain target population and accessible population

15) What are the uses of stratified sampling?

16) Why do we use inferential statistics?

17) Define data, datum, variable, and sample.

	18.
	A ____________ is a characteristic or attribute of a subject that can assume different values? 


	19.
	If a weather center monitors and calculates the average number of tornadoes that pass through Topeka, Kansas each year, what type of variable would they be investigating? 

	
	


. 

	20.
	Which branch of statistics would employ probability to predict how many miles one should be able to drive a 2000 Toyota Celica during its lifetime? 


	21.
	What level of measurement classifies data into mutually exclusive categories in which no order or ranking can be imposed on the data? 

	
	


	22.
	Classifying the fruit in a basket as apple, orange, or banana, is an example of the ___________ level of measurement? 


	23.
	The amount of time needed to run the Boston marathon is an example of which type of variable? 


        24. Give the boundaries of 3.563
	25.
	If you were told that four students from a class of twenty were questioned for a poll about study habits, this would be an example of ________________.


	26.
	What type of sampling is being employed if the country is divided into economic classes and a sample is chosen from each class to be surveyed? 


	27.
	If a researcher manipulates one of the variables and tries to determine how the manipulation influences other variables, the researcher is conducting a(n) 


	28.
	 Which of the following best defines the relationship between confounding, dependent, and independent variables? 

	A)
	The confounding variable influences the independent variable, but has no effect on the dependent variable. 

	B)
	The influence of the confounding variable cannot be separated from the influence of the dependent variable. 

	C)
	The confounding variable may cause the dependent variable to act independently. 

	D)
	The confounding variable influences the dependent variable, but is not separated from the independent variable. 


	29.
	In a true experimental study, the subjects should be assigned to groups randomly. If this is not possible and a researcher uses intact groups, they are performing a _______________.

	A)
	quasi-experimental study

	B)
	convoluted study

	C)
	observational study

	D)
	dependent study 


	30.
	A magazine tests a new car and reports that it could be twice as much fun to drive.  This is NOT an example of

	A)
	changing the subject

	B)
	detached statistics

	C)
	suspect samples

	D)
	implied connections


	31.
	An advertisement for a car states that it is 20% more powerful.  This is an example of _________________.

	A)
	changing the subject

	B)
	detached statistics

	C)
	suspect samples

	D)
	ambiguous averages


Frequency Distributions and Graphs

1. Which of the following should not be done when constructing a frequency distribution?

a. Select the number of classes desired

b. Find the range

c. Use classes that are unequal in width

d. Use classes that are mutually exclusive

2. What is the midpoint of the class 40 – 80?

a. 40

b. 60

c. 80

d. 45

3. What is the width of the class 20.7 – 28.3?

a. 7.7

b. 7.6

c. 28.35
d. 24.5

4. What are the boundaries of the class 2.15 – 3.65?

a. 2.1 – 3.7
b. 2.14 – 3.66

c. 2.149 – 3.659
d. 2.145 – 3.655

5. What are used to show how many values are accumulated up to and including a specific class?

a. Ungrouped frequencies
c. Cumulative frequencies

b. Raw data


d. Grouped frequencies

6. Using the data 5, 9, 2, 11, 7, 19, and 8, what is the range?

a. 4

b. 3

c. 14

d. 17

7. What would be the class boundaries for the class 3.52 – 3.58?

a. 3.515 – 3.585


c. 3.525 – 3.585

b. 3.500 – 3.600


d. 3.510 – 3.590

8. When constructing a frequency distribution, how many classes should there be?

a. Between 8 and 12

c. Between 5 and 20

b. Between 2 and 5

d. Between 15 and 20

9. What is the midpoint of the classes 13.2 – 16.4?

a. 13.2

b. 14.8

c. 16.4

d. 14.3

10. In the frequency distribution, two classes are 40 – 46 and 47 – 53. What is the class width?

a. 6

b. 8

c. 7

d. 5

11. In the class 20 – 28, what is the lower class limit?

a. 20

b. 19

c. 19.5

d. 20.5

12. Using the class 37 – 45, what is the upper class boundary?

a. 45

b. 45.5

c. 44.5

d. 46

13. Karla wants to construct a frequency distribution for the religious affiliation of the employees at Brown’s department Store. What type of distribution will be used?

a. Ungrouped


c. Categorical


b. Grouped


d. Cumulative

14. Using the class 17.25 – 18.10, what is the upper class limit?

a. 18.20

b. 18.10
c. 18.105
c. 18.11

15. What is another name for a cumulative frequency graph?

a. Bar graph


c. Frequency polygon

b. Pictograph


d. Ogive

16. The following frequency distribution was obtained.

Class boundaries
    
Frequencies

    

17.5 – 22.5


5

    
22.5 – 27.5


7

     

27.5 – 32.5


10

     

32.5 – 37.5


12

     

37.5 – 42.5


13


How many pieces of data were less than 37.5? What is the mean?

17. The meteorological records the temperature in Fairbanks, Alaska during each day. What type of graph would be used?

a. Time series graph

c. Pie graph

b. Pictograph


d. Ogive

18. Jimmy is constructing a pie graph to represent the number of g hours his classmates watch television each day. He found that 11/30 watched 2 hours a day. In his pie graph this would represent how many degrees?

a. 12

b. 132

c. 23

d. 150

19. In the pie chart, if pepperoni pizza was 15/60 of the distribution, how many degrees would be needed for pepperoni?

a.  900

b. 1200

c. 600

d. 1500
20. An automobile dealer wants to construct a pie graph to represent the different types of cars sold on October. He sold 90 cars, and 20 of the cars were convertibles. The convertibles will represent how many degrees in the circle?

a.  900

b. 1000

c. 600

d. 800
21. For the data 5, 9, 2, 11, 7, 19, and 8 what is the range?

a. 3

b. 17

c. 7

d. 19

22. Write a list of the data represented by the stem-and-leaf plot below.
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23. Find the range of the data in the stem-and-leaf plot.
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24. Fifteen mothers were asked how many months old their babies were when they got their first tooth. The results are shown below.

8, 6, 6, 14, 7, 9, 5, 6, 6, 6, 9, 8, 6, 6, 5

Find the range and the outlier(s), if any, of the data set.

	a.
	range 8; no outliers

	b.
	range 9; outlier 14

	c.
	range 8; outlier 14

	d.
	range 9; no outliers


25. Thirteen golfers were asked what their score was on their last game. The scores are shown below.

86, 75, 72, 85, 78, 88, 74, 74, 83, 85, 77, 57, 77

Find the range and the outlier(s), if any, of the golfers' scores.

	a.
	range 32; no outliers

	b.
	range 31; outlier 57

	c.
	range 32; outlier 57

	d.
	range 31; no outliers


26. The data below shows the average number of text messages a group of students send per day. Draw the histogram that represents the data?

20  5  8  22  10  1  7  15  16  12  15  6  13  8

27. The data below shows the number of kilowatt hours of electricity used by the tenants of a small apartment building in a given month. What is a cumulative frequency table that represents the data?

80  85  86  90  96  75  66  70 

99  65  70  99  70  73  64  92 

72  81  88  91  93  69  77  82

	
	

	
	

	
	

	
	


Data Description

28. If you look at the coins in your pocket and state that you have more dimes than any other coin, what measure of central tendency are you using?

a. Mode

b. Mean
c. Midrange

d. Median

29. What is the midpoint of the data array called?

a. Mode

b. Median
c. Mean

d. Midrange

30. For the data 15, 21, 28, 17, 19, 29, and 25, what is the mean?

a. 21

b. 19

c. 20

d. 22

31. What is the median of the following data set?

120, 117, 191, 115, 130, 125, 140, 126

a. 125

b. 126

c. 125.5
d. 122.5

32. The following data set was collected: 32, 37, 38, 36, 37, 39, 37, 35, 41, and 31. What is the midrange?

a. 37

b. 36

c. 35

d. 38

33. The following data was reported on weekly salaries:

Salary

     Frequency

  300


4

  350


5

  400


8

  450


10

  500


9

  550


12


What is the mean of this distribution?

a. 453.2

b. 362.5
c. 425.0
d. 435.8

34. The following data was reported on weekly salaries:

Salary

     Frequency

  

  300


4

  

  350


5

  

  400


8

  

  450


10

  

  500


9

  

  550


12


What is the mode?

a. 12

b. 550

c. 450

d. 500

35. The following frequency distribution was obtained.

Class Boundaries

     Frequency

  

  16.5 – 23.5



8

  

  23.5 – 30.5



3

  

  30.5 – 37.5



9

  

  37.5 – 44.5



7

  

  44.5 – 51.5



3


What is the variance and standard deviation?
36. What is the weighted mean of the cost of tennis shoes?

Shoe

Number Purchased
            Price

  

    A


8


$35

  

     B


10


$45

  

     C


14


$25

  

     D


6


$55

a. $40

b. $37.11

c. $38.27

d. $39.27

37. The following data were collected: 38, 42, 37, 50, 32, 55. Using the unbiased estimator, what is the variance?

a. 42.3

b. 8.6

c. 62.2

d. 74.7

38.  The mean of the sample was 375 and the variance was 88. What is the coefficient of variation?

a. 25%

b. 23.5%
c. 2.5%

d. 42.6%

39. Charlie had a z-score of – 1.54 on a test that had a mean of 72 and a standard deviation of 13. What was Charlie’s raw score on the test?

a. 52

b. 92

c. 70

d. 54

40. Which of the following percentiles does not corresponds to the median?

       a. P50

b. Q2

c. D5

d. Q3

41. Using the data set 17, 25, 30, 27, 16, 19, 35, 42, 18, 20, 19, and 13,  What is the percentile of score 27?
42. Which measure of central tendency is least affected by extremely high or low values?

a. Mean

b. Median
c. Midrange
d. Range

43. Which measure of central tendency is the easiest to compute?

a. Mean

b. Median
c. Mode
d. Midrange

44. The following data on the number of servings of fruits and vegetables eaten in a day by 15 teenagers is as follows: 2, 1, 3, 2, 1, 0, 4, 3, 2, 3, 4, 2, 1, 3, and 2. What is the mean of this data?

a. 2.2

b. 2.1

c. 2.0

d. 2.3

45. Using the following set of data: 60, 52, 48, 32, 62, 45, 48, 52, 60, and 48, what is the median?

a. 48

b. 52

c. 54

d. 50

46. Using the following set of data: 60, 52, 48, 32, 62, 45, 48, 52, 60, and 48, what is the midrange?

a. 47

b. 48

c. 52

d. 49

47. Using the following set of data: 60, 52, 48, 32, 62, 45, 48, 52, 60, and 48, what is the mean?

a. 50

b. 50.7

c. 49.3

d. 50.2

48. What is the range of the data? 18, 25, 32, 16, 19, 40, 50, and 60

a. 42

b. 44

c. 20

d. 46

49. What is the variance of the given data? 18, 25, 32, 16, 19, 40, 50, and 60

a. 17.3

b. 16.2

c. 262.9
d. 260.1

50. A distribution has mean of 200 and a standard deviation of 30. For a value of 245, what is the z-score?

a. 1.50

b. 1.20

c. – 1.50
d. 2.50

51. The first test in Introductory Algebra had a mean of 82 with a standard deviation of 15. If a student made a 75 on the test, what is the corresponding z-score?

a. – 0.58

b. – 0.47
c. 0.47

d. 0.82 

52. What is the interquartile range for the following data? 4, 5, 7, 8, 9, 10

a. 5

b. 9

c. 4

d. 6

53. Using the data set of: 10, 12, 13, 15, 18, 20, 25, 27, 32, 36, 39, and 40, what is the interquartile range?

a. 20

b. 19

c. 21

d. 18

